EARAROBEEIERT — 2 N— IBISH —F

20195 7H26H (£) 10EEHMH6H

EEY~—J1—8 ¥5R3FE

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[A&4£] 1 7% :6,000,000 23 :1,680,000 @ 337 :840,000 4 3% :600,000 @ . 5 7& :480,000 M
B BB BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
. s 50, _19-11-7 | 38.1| — EREY (FE)
117110 T4 T - 4 4 55_0% 1&))2 12-12-11-7 | 38.1 3 ;1+730) qz#ﬁ;
RI—-v>T747—FK B:I-YrFrOox— EZ: N
N 1ERERAI :50. ~5-6- . - BRAR (Ml
olglg | ANEFIXYT 4% 6 s 1(75?:>2 5-5-6-4 | 38.8 2 (5_130) EJII%
RxLTHANAN BTIALTT =Y tae ]
3,02 o6 | BNEE 1:50.6 7-7-8-9 [ 39.1| — 7 449 | HBAERR (FEHR)
]4 IA4>23/75h 55.0 21/2) (1) | FHRE
xR TAANAN B:Iyiarhi— =razie ]
- Dt = TEEA : -11-4~ = BEEEE (KH)
a1 1| ATy THTELR % 5 & 1(/75(1):6 10-11-4-1 | 39.0 1 (4_833) Ll
Q:d—WRFY2—b BLAELR J—HTr—L
— it 6 | EEFER 1:51.0 3-3-3-5 [39.8| — 4 450 | BBEMAH (B
5|5|6 T4 7<) 55.0 (2 1/2) (-20) (B) 7VRE>k
R:ZNAF2—)0 B:Ia/x> [/ S e ]
= 3 AR .51, -10-9— . = BB (Fakh)
6 713% KFv>2 271 4 6 L 1(35/14)1 10-10-9-10 | 39.3 9 (4_865) 5%#%2
ReVIWIN—F v —L Byt AR H S
; o6 | JIRE— 1:51.1 6-6-5-6 |39.7| — 8 499 | 1EEFFHRZ (KH)
71811 J—=TIVX /) — 55.0 (748%) (-10) EARMEE
Z:va7x BEY/ILE— FREFHS
= o TS o) — 4 5 | TERE 1:51.4 2-2-2-2 | 40.2| — 5 473 | FRERE (EB)
8 8 ATy T2 ~ 55.0 (1 3/4) (+5) ﬁﬁéﬂ%ﬁﬁ
RixrvvH/¥tF BiAyRIXILZ =it
R o AR :51. -4-7- . — RFRK (EH
9 3 g4 by =TI 4 5 e 1(531)9 4-4-7-7 | 40.5 6 :ZO) ooy
LTANWNTTFY— B:v1x74—-> EvJILy RT77—L4
S o PIFED :52. -1-1- . - BAEE (F)
10 2 Hr)Y 1 —X 4 4 i 1(522)2 1-1-1-2 | 411 10 (4_732) il
R:N—YI54 B:UairX 2HIT7— L
= 2 4 7 | AUEE 1:52.6 8-8-10-11 | 40.8 | — 11 513 | AfdfE (EH)
111812 PV TATL -2 55.0 21/2) (45 | BELLRESE
L:RT4 T B:aO g —> FRESS
i = i 6 | MERAF 1:53.5 9-9-12-12 | 41.6 | — 12 | 508 |{XHFAS (EMH)
12(7]9| 77%A)NAUL 0 ®) Gy | AN bEs
L:TIVYAZXI R B:T7TRRINRT akiikie]
® I —F—EBIERL
13=7r= 2,8,6,3,5,11,4,12,9,(1,7) ,10
Aol=5r= 2,8,6,3,5,11,4,12,9,7,1,10
G§a=7r= 2,8,6,1,11,5,3,4,7,12,10,9
40 —F— 1,(2,8),5,6,11,(3,10) ,4,7,12,9
[ RN
B OB 10 490H 714K 5-10 440M e & 5-7 810M &R 4-5-10 4,740
8 B 10 220M 4-10 980F B E 5-10 940M JEH 10-5-4 15,920
5 230H 4-5 1,180H B H 10-5 1,790M
4 350M

ABICOVWTRDTEEERROODE. TR LIV,




